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1. 

0.32 + 0.24 = 

A. 0.56

B. 56.0

C. 5.60

  

2. 

 0.20
+ 0.02

A. 0.22

B. 2.2

C. 0.21

3. 

 7.3
+ 1.6

A. 7.6

B. 8.1

C. 8.9

4. 

Dora has $4.55. 

She gives Ann $2.50. 

How much does she have now?

A. $4.00

B. $2.00

C. $2.05



5. 

Step 1:

4
6  + 2

8

What is the next step?

A. 4
6  + 4

16

B. 8
12  + 2

8

C. 16
24  + 6

24

  

6. 

Nancy runs 1.75 hours on Saturday. 

She runs 1.25 hours on Sunday. 

How many hours does she run in all?

A. 2.75 hours

B. 2 hours

C. 3 hours

7. 

 $0.50
- $0.10

A. $0.60

B. $0.40

C. $0.50

8. 

Which are equal?

A. 2
16  & 7

16

B. 1
8  & 7

16

C. 1
8  & 2

16



9. 

Buddy makes cookie dough. 

He uses 1
2  cup brown sugar, 1

2  cup
white sugar and 2 cups flour. 

How many cups of cookie dough will he
have in all?

A. 3

B. 1 1
2

C. 2 1
2

  

10. 

Tom has 4.7 pounds of bananas and 2.1
pounds of apples. 

About how many pounds of fruit does
he have in all?

A. 5

B. 7

C. 8

11. 

 + 

1 5
8  + 1

2  = 

A. 2 1
8

B. 2

C. 2 1
4

12. 

Jim buys 2 boxes of berries.

Each box is 3
4  lb.

How much does he buy in all?

A. 3
4  lbs.

B. 1 1
2  lbs.

C. 4
6  lbs.



13. 

5
6  + 3

6  is about 

A. 1
2  + 1

3

B. 1 + 1
2

C. 2 + 1

  

14. 

1
4  + 1

12  =

A. 1
12  + 1

12

B. 1
4  + 1

4

C. 3
12  + 1

12

15. 

3
4  + 1

8  =

A. 6
8  + 1

8

B. 7
8  + 1

8

C. 7
8  + 3

8

16. 

Suni eats 1
3  of this pie. Jan and Kirt

each eat 1
4  of this pie.

Who eats the most pie?

A. Kirt

B. Suni

C. Jan
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